MARTY $-

49370 SAINT CLEMENT DE LA PLACE
Tél:0241770386 Fax: 0241770277

A2243R

B.P.10

www.martysports.com

Wheels on PV Duckboard

MO0Ox6m00

Details of pieces

ARTICLE DESIGNATION QTE
1 Duckboard 2m50 x 1m50 6
2 Duckboard 2m50 x 1m50 right 1
3 Duckboard 2m50 x 1m50 left 1
4 Duckboard 2m50 x 0m85 2
5 Duckboard 1m55 x O0m50 2
6 Duckboard with long left advence 1
7 Duckboard with long right advence| 1
8 Stop bumper plat 1
9 Stop garde 5
10 |double clamp 62
11 |simple clamp 40
12 |Folded hoock 6
13 |Hoock attachment 8
14 |Wheel @100 to plate 30
15 |Wheel @100 to plate barking 21
16  |Screw TH M8 x 65 10
17 |Screw TH M8 x 50 2
18 |Screw TH M8 x 30 6
19 |Screw TH M8 x 20 204
20 |Plat washers @8L 214
21 Pan screw M8 220

— Landing pits FLEXY sold serarately
(Réf. MANtRTY A2222M for monoblock|
A2222T for semi modular,
or A2222 for modular)




MARTY &

B.P.10
49370 SAINT CLEMENT DE LA PLACE
Tél: 0241770386 Fax: 0241770277
www.martysports.com

A2243R

217

Wheels on PV Duckboard
MOOx6mO00

1 : Implantation

1916

6084
Ploe vault box decalling = 234

CALYVI

e

6000




MARTY $Ts A2243R
prpsSe Wheels on PV Duckboard
MO0Ox6mO00
2 : Top view
/ *ﬁ% = a3 \
NEEAN —
4
= AN =
71
p’ 23 // \\ i \x
) // \\ o
I
.« )/f/ \\K 2




417

A2243R

Wheels on PV Duckboard

MO0Ox6m00

MARTY $-
B.P.10
49370 SAINT CLEMENT DE LA PLACE
Tél: 0241770386 Fax: 024177

3 : Wheels joint assembling

Duckboard plat
in top part.

©
| =
©
o
Q
=
19
-
o
(=)}
£
=
|
2

=
-m
)
O
()]
=
o




517

A2243R

Wheels on PV Duckboard

MO0Ox6m00

Tél: 0241770386 Fax: 0241770277
www.martysports.com

MARTY $-
B.P.10
49370 SAINT CLEMENT DE LA PLACE

4 : Simple wheels assembling

=]
L
(=B
By
(]
mp
x g
O 5
-
D-m

°
|
©
o

2

x
.9
3

T
=)

-m
=
S

=

=
2
)
O
(]
=
©




6/7

A2243R

Duckboard plat

TS

&

B.P.10
49370 SAINT CLEMENT DE LA PLACE

MARTY

Tél: 0241770386 Fax: 0241770277
www.martysports.com

5 : Stop garde assembling




717

A2243R

Duckboard plat

B.P.10
49370 SAINT CLEMENT DE LA PLACE

MARTY $-

Tél: 0241770386 Fax: 0241770277
www.martysports.com

6 : Hoock and stop bumper plat assembling




